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The following data is given for the mechanism shown in
the figure: R0204 = 3 in; ROZAZ = 3 in; and at this
instant R(,4A4 =3 in; O, = 4 rad/s ccw; O, = 8 rad/s’

ccw. Determine (a) 0, , (b) O,
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Link 2 of the slider crank mechanism shown is
applied with a horizontal force F; = 500 N to the
right. If there is no friction, find the force P such

that the mechanism is in static equilibrium. R,, =
2

400 mm, RBoz = 200 mm, and R, = 400 mm.
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3. Link 3 has the accelerations of its end
points, A and B, as shown. R,; = 500 mm, Ry= 16 Mé'l.
R, =250 mm, m, =2 kg, and I; = 005 ‘\”, 3 ag= lzms2
kg-m’. Determine (a) a; , (b) O, , and (¢) . e— __e<
the inertia force and its location according A . &

to D'Alambert's principle.
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Link 3 of the mechanism shown has the following data;
m, = 1 kg, I, = 0.04 kg-m’, R,; = 400 mm, R, = 200
mm. If point B is moving with constant velocities, v, =
4 m/s to the left. Assume no friction. Determine (a)
@, , (b) O, , and (c) force P applied to B to cause this

motion.
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For the rotor shown, a = 50 mm, b
= 100 mm, ¢ = 200 mm, m, = 2.7
kg, R, = 40 mm, m, = 1.2 kg, R, =
60 mm. To balance this rotor,

determine the amount and angular

positions of the masses to be added
on the correction planes, L and R, at

the radius R, = Ry = 80 mm.
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